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Purpose

· To look at the detailed reactions involved in anaerobic respiration.

Glycolysis

Living organisms carry out respiration to make ATP, the energy currency of the cell.

Glycolysis (Figure 1) involves the oxidation of glucose to pyruvate and is carried out by all living organisms whether or not oxygen is present. The glycolysis reactions release energy which is used to make ATP. Transfer of electrons from the glucose reduces coenzymes as hydrogen is removed during the reaction.

Questions

Q1
ADP is recycled when ATP is used as an energy source for reactions in the cell. Name two processes that use ATP.
Q2
Explain what needs to happen to the reduced coenzyme so it can be recycled.

Q3
In anaerobic respiration in animals, pyruvate is reduced to lactate by the reduced coenzyme, allowing recycling of the coenzyme (Figure 2).

Write a simple explanation for what is happening at each of the stages labelled 1–5 in Figure 2.

Q4
Lactate is not a waste product; it can be converted back into glucose in the liver, or can be broken down completely to CO2 and H2O in aerobic respiration. Suggest why lactate causes problems if allowed 
to build up in cells.

Q4












































































































�


Figure 2 Anaerobic respiration in animals.
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Figure 1 Simplified diagram of glycolysis.
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